A note on q –Ruscheweyh type functions

P.Nandini^{#1}, S.Latha^{*2}

^{#1} Department of Mathematics, JSS College of Arts, Commerce & Science, BN Road, Mysore-570025, INDIA ^{*2} Department of Mathematics, Yuvaraja's College, University of Mysore, Mysore-570 005, INDIA

Abstract — The objective of the present paper is to define a class $T_q^m(b, \lambda, \alpha)$ using q – Ruscheweyh differential operator. For functions belonging to this class we obtain coefficient estimates, extreme points and many more properties.

Keywords and phrases — Univalent functions,

q- *Ruscheweyh differential operator, q-Komoto operator.*

I. INTRODUCTION

q- calculus is a generalization of many subjects, like hyper geometric series, complex analysis and practical physics. In short, q-calculus is quite a popular subject today. It has developed various dialects like quantum calculus, time scales, partitions and continued fractions.

In the present paper, we aim at introducing some new subclasses of functions defined by applying the q- differential operator of order m which are univalent analytic in the open unit disk.

To make this article self contained ,we present below the basic definitions and related details of qcalculus, which are used in sequel.

The q-analogue of gamma function and its integral representation is defined by

$$\begin{split} \Gamma_q(x) &= (1-q)^{1-x} \prod_{n=0}^{\infty} \frac{1-q^{n+1}}{1-q^{n+x}} \\ &= (1-q)^{1-x} \frac{(q;q)_{\infty}}{(q^x,q)_{\infty}} \\ \Gamma_q(x) &= \int_0^{\frac{1}{1-q}} t^{x-1} E_q(-qt) d_q t \end{split}$$

and

where $E_q(x)$ is the q-Exponential of x represented by

$$E_q(x) = \sum_{n=0}^{\infty} \frac{q^{\frac{n}{2}} x^n}{(q;q)_n}$$

We observe that

as $q \to 1$ $E_q(x) \to e(x)$, $\Gamma_q(x) \to \Gamma(x)$ Let A denote the class of functions of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n$$
 (1.1)

which are analytic and univalent in the open unit disk U.

If a function f is given by (1.1) and g defined by

$$g(z) = z + \sum_{n=2}^{\infty} b_n z^n \tag{1.2}$$

is in the class A, then the convolution (or Hadamard product) of f and g is defined by

$$(f * g)(z) = z + \sum_{n=2}^{\infty} a_n b_n z^n$$
, $z \in U$ (1.3)

Let *T* denote the subclass of analytic function in U consisting of functions whose non-zero coefficients from the second onwards are negative .That is an analytic function $f \in T$ if it has a Taylor expansion of the form

$$f(z) = z - \sum_{n=2}^{\infty} a_n z^n , a_n \ge 0 \qquad (1.4)$$

which are analytic and univalent in the open disk U.

The class T is also closed under modified Hadamard product, f * g is defined by

$$(f * g)(z) = z - \sum_{n=2}^{\infty} a_n b_n z^n , z \in U$$
 (1.5)

The q-analogue of derivative of f(z)[6] is given by

$$D_q f(z) = rac{f(qz) - f(z)}{z(q-1)}$$
 , $(z \neq 0$, $q \neq 1)$

Similarly the q-Ruscheweyh differential operator $R_a^m f$, is defined by

$$\lim_{q \to 1} R_q^m f(z) = \frac{z}{(1-z)^{m+1}} * f(z), \quad m > -1$$

Where * denotes convolution.

Now using q-Ruscheweyh differential operator , we define the following subclasses of T.

Definition 1.1. Let T_q^m (b, λ, α) be the subclass of *T* consisting of functions which satisfy the conditions

$$Re\left\{\frac{(b-2)R_q^m f + 2R_q^{m+1}f}{(b-2\lambda)R_q^m f + 2\lambda R_q^{m+1}f}\right\} > \alpha$$
(1.6)

For some α, λ , $(0 \le \alpha, \lambda < 1)$, b is a non-zero real number and $z \in U, m > -1$.

For different parametric values of q, m and b we get the classes defined by Mostafa [3] and Shilpa and Latha[4].

2. Main Results

Theorem 2.1: A function *f* defined by (1.4) is in the class $T_q^m(b, \lambda, \alpha)$ if and only if

$$\sum_{n=2}^{\infty} C_{q}(n,m) a_{n} \{ 2(1-\lambda\alpha) ([n+m]_{q} - [1+m]_{q}) + b(1-\alpha) [1+m]_{q} \}$$

$$\leq b[1+m]_{q} (1-\alpha)$$

where $C_q(n, m) = \frac{\Gamma_q(n+m)}{\Gamma_q(1+m)[n-1]!_q}$, $[n]_q = \frac{1-q^{n-1}}{1-q}$, $\alpha, \lambda, (0 \le \alpha, \lambda < 1)$, b is non-zero real number and $z \in U$, m > -1.

Proof : Let

$$Re\left\{\frac{(b-2)R_q^mf+2R_q^{m+1}f}{(b-2\lambda)R_q^mf+2\lambda R_q^{m+1}f}\right\} > \alpha$$

which implies

Re

$$\begin{cases} \frac{(b-2)[Z-\sum_{n=2}^{\infty}C_{q}(n,m)a_{n}z^{n}]+2\left[z-\sum_{n=2}^{\infty}C_{q}(n,m)\frac{[n+m]_{q}}{[1+m]_{q}}a_{n}z^{n}\right]}{(b-2\lambda)[z-\sum_{n=2}^{\infty}C_{q}(n,m)a_{n}z^{n}]+2\lambda\left[z-\sum_{n=2}^{\infty}C_{q}(n,m)\frac{[n+m]_{q}}{[1+m]_{q}}a_{n}z^{n}\right]}\right) \\ > \alpha \\ Re\left\{\frac{bz-\sum_{n=2}^{\infty}C_{q}(n,m)a_{n}z^{n}\left[2\frac{[n+m]_{q}}{[1+m]_{q}}+b-2\right]}{bz-\sum_{n=2}^{\infty}C_{q}(n,m)a_{n}z^{n}\left[2\lambda\frac{[n+m]_{q}}{[1+m]_{q}}+b-2\lambda\right]}\right\} > \alpha \\ Letting \ z \to 1 \ , \ we \ have$$

$$b - \sum_{n=2}^{\infty} C_{q}(n, m) a_{n} \left[2 \frac{[n+m]_{q}}{[1+m]_{q}} + b - 2 \right]$$

> $\alpha \left[b - \sum_{n=2}^{\infty} C_{q}(n, m) a_{n} \left[2\lambda \frac{[n+m]_{q}}{[1+m]_{q}} + b - 2\lambda \right] \right]$
 $\therefore \sum_{n=2}^{\infty} C_{q}(n, m) a_{n} \begin{cases} 2(1 - \lambda \alpha) ([n+m]_{q} - [1+m]_{q}) \\ +b(1 - \alpha)[1+m]_{q} \end{cases}$
 $\leq b[1+m]_{q}(1 - \alpha)$

Conversely , suppose $f \in T_q^m(b, \lambda, \alpha)$ satisfies (1.6) Equivalently

$$\left| \left\{ \frac{(b-2)R_{q}^{m}f + 2R_{q}^{m+1}f}{(b-2\lambda)R_{q}^{m}f + 2\lambda R_{q}^{m+1}f} \right\} - 1 \right| \le 1 - \alpha$$

$$\left| \left\{ \frac{(b-2)[z-\sum_{n=2}^{\infty}C_{q}(n,m)a_{n}z^{n}] + 2[z-\sum_{n=2}^{\infty}C_{q}(n,m)\frac{[n+m]q}{[1+m]q}a_{n}z^{n}]}{(b-2\lambda)[z-\sum_{n=2}^{\infty}C_{q}(n,m)a_{n}z^{n}] + 2\lambda[z-\sum_{n=2}^{\infty}C_{q}(n,m)\frac{[n+m]q}{[1+m]q}a_{n}z^{n}]} \right\} - 1 \right|$$

$$\le 1 - \alpha$$

$$\left\{ \begin{array}{l} \frac{bz - \sum_{n=2}^{\infty} C_q(n,m) a_n z^n \left[2 \frac{[n+n]q}{[1+m]q} + b - 2 \right]}{bz - \sum_{n=2}^{\infty} C_q(n,m) a_n z^n \left[2\lambda \frac{[n+m]q}{[1+m]q} + b - 2\lambda \right]} \right\} - 1$$

 $\leq 1 - \alpha \\ \left| \frac{\sum_{n=2}^{\infty} C_q(n,m) a_n z^n 2(1-\lambda) ([1+m]_q - [n+m]_q)}{bz[1+m]_q - \sum_{n=2}^{\infty} C_q(n,m) a_n z^n [b[1+m]_q - 2\lambda ([1+m]_q - [n+m]_q)]} \right| \\ \leq 1 - \alpha \\ \text{As } z \to 1 \\ \left| \frac{\sum_{n=2}^{\infty} C_q(n,m) a_n 2(1-\lambda) ([1+m]_q - [n+m]_q)}{b[1+m]_q - \sum_{n=2}^{\infty} C_q(n,m) a_n [b[1+m]_q - 2\lambda ([1+m]_q - [n+m]_q)]} \right| \\ \leq 1 - \alpha$

This expression is bounded above by $1 - \alpha$, if $\sum_{n=2}^{\infty} C_q(n,m)a_n 2(1-\lambda)([1+m]_q - [n+m]_q)$ $\leq (1-\alpha)[b[1+m]_q - \sum_{n=2}^{\infty} C_q(n,m)a_n[b[1+m]_q - 2\lambda([1+m]_q - [n+m]_q)]]$

which is true by hypothesis. This completes the assertion of the theorem 2.1.

As $q \rightarrow 1$ we get the following result by Shilpa and Laha [4]

Corollary 2.2. A function f defined by (1.4) is in the class $T^m(b, \lambda, \alpha)$ if and only if

$$\sum_{n=2}^{\infty} C(n,m) [2(n-1)(1-\lambda\alpha) + b(1+m)(1-\alpha)]a_n$$
$$\leq b(1+m)(1-\alpha).$$

For b = 2, m = 1 and b = 1, m = 1 in the above theorem we have the following result of Mostafa[3].

Corollary 2.3. i) A function
$$f(z)$$
 defined by (1.4)
is in the class $T(\lambda, \alpha)$ if and only if
$$\sum_{n=2}^{\infty} (n - \lambda \alpha n - \alpha + \lambda \alpha) a_n \le 1 - \alpha$$
ii) A function $f(z)$ defined by (1.4) is in the
class $C(\lambda, \alpha)$ if and only if
$$\sum_{n=2}^{\infty} n(n - \lambda \alpha n - \alpha + \lambda \alpha) a_n \le 1 - \alpha$$
Corollary 2.4. If $f \in T_{\alpha}^m(b, \lambda, \alpha)$ then

 $|a_n| \leq \frac{b[1+m]_q(1-\alpha)}{c_q(n,m)[2(1-\lambda\alpha)([n+m]_q-[1+m]_q)+b(1-\alpha)[1+m]_q]}$

where $C_q(n,m) = \frac{\Gamma_q(n+m)}{\Gamma_q(1+m)[n-1]_q!}$

Theorem 2.5. Let $0 \le \alpha < 1$, $0 \le \lambda_1 \le \lambda_2 < 1$, m > -1, *b* is any non-zero real number, then $T_q^m(b, \lambda_2, \alpha) \subset T_q^m(b, \lambda_1, \alpha)$

Proof: From the Theorem 2.1

$$\begin{split} \sum_{n=2}^{\infty} C_q(n m) a_n \Big[2(1-\lambda_2 \alpha) \big([n+m]_q - [1+m]_q \big) \\ &+ b(1-\alpha) [1+m]_q \Big] \\ \leq \sum_{n=2}^{\infty} C_q(n m) a_n \Big[2(1-\lambda_1 \alpha) \begin{pmatrix} [n+m]_q \\ -[1+m]_q \end{pmatrix} \\ &+ b(1-\alpha) [1+m]_q \Big] \end{split}$$

ł

 $\leq b[1+m]_q(1-\alpha)$ For $f(z) \in T_q^m(b, \lambda_2, \alpha)$, Hence $f(z) \in T_q^m(b, \lambda, \alpha)$.

Theorem 2.6. Let $f(z) \in T_q^m(b, \lambda, \alpha)$ define $f_1(z) = z$ and

$$\begin{split} f_n(z) &= \\ z - \frac{b[1+m]_q(1-\alpha)}{c_q(n,m)[2(1-\lambda\alpha)([n+m]_q-[1+m]_q)+b(1-\alpha)[1+m]_q]} z^n \end{split}$$

Where $n = 2, 3, \ldots, z \in U$, $C_q(n, m) = \frac{\Gamma_q(n + m)}{\Gamma_q(1 + m) [n - 1]_q!}$ $\alpha, (0 \le \alpha < 1), \lambda (0 \le \lambda < 1), b$ is non –zero

real number and $z \in U, m > -1$

$$f \in T_q^m(b, \lambda, \alpha)$$
 if and only if f can be expressed as
 $f(z) = \sum_{n=1}^{\infty} \mu_n f_n(z)$, where $\mu_n \ge 0$ and $\sum_{n=1}^{\infty} \mu_n = 1$

Proof : If

$$f(z)=\sum_{n=1}^{\infty}\mu_n f_n(z)$$
 , with $\mu_n\geq 0$ and $\sum_{n=1}^{\infty}\mu_n=1$ Then

$$\sum_{n=2}^{\infty} \frac{C_{q}(n,m)[2(1-\lambda\alpha)[[n+m]_{q}-[1+m]_{q}]+b(1-\alpha)[1+m]_{q}]}{C_{q}(n,m)[2(1-\lambda\alpha)[[n+m]_{q}-[1+m]_{q}]+b(1-\alpha)[1+m]_{q}]}$$

=
$$\sum_{n=2}^{\infty} \mu_{n} b[1+m]_{q}(1-\alpha)$$

= $(1-\mu_{1})b[1+m]_{q}(1-\alpha)$

$$\leq b[1+m]_q(1-\alpha)$$

Hence $f \in T_q^m(b, \lambda, \alpha)$

Conversely,

Let
$$f(z) = z - \sum_{n=2}^{\infty} a_n z^n \in T_q^m(b, \lambda, \alpha)$$

Define

$$\mu_{n} = \frac{C_{q}(n,m)[2(1-\lambda\alpha)([n+m]_{q}-[1+m]_{q})+b[1+m]_{q}(1-\alpha)]|a_{n}|}{b[1+m]_{q}(1-\alpha)}$$

$$m = 2,3, \dots$$

And define $\mu_1 = 1 - \sum_{n=2}^{\infty} \mu_n$,
from Theorem 2.1, $\sum_{n=2}^{\infty} \mu_n \le 1$ and so $\mu_1 \ge 0$
Since $\mu_n f_n(z) = \mu_n f_1 - a_n z^n$
 $\sum_{n=1}^{\infty} \mu_n f_n(z) = z - \sum_{n=2}^{\infty} a_n z^n = f(z).$

Theorem 2.7. The class $T_q^m(b, \lambda, \alpha)$ is closed under convex linear combination.

Proof: Let
$$f, g \in T_q^m(b, \lambda, \alpha)$$
, and let

$$f(z) = z - \sum_{n=2}^{\infty} a_n z^n, \quad g(z) = z - \sum_{n=2}^{\infty} b_n z^n$$

For η such that $0 \le \eta \le 1$, it is enough to show that the function defined by

$$h(z) = (1 - \eta)f(z) + \eta g(z), z \in U$$

belongs to $T_q^m(b, \lambda, \alpha)$
now $h(z) = z - \sum_{n=2}^{\infty} [(1 - \eta)a_n + \eta b_n]z^n$
ying Theorem 2.1 to f $g \in T^m(b, \lambda, \alpha)$

Applying Theorem 2.1 to $f, g \in T_q^{uu}(b, \lambda, \alpha)$ we have

$$\sum_{n=2}^{\infty} C_q(n,m) \begin{cases} 2(1-\lambda\alpha)([n+m]_q-[1+m]_q) \\ +b[1+m]_q(1-\alpha) \end{cases} \end{cases}$$

$$[(1 - \eta)a_{n} + \eta b_{n}] = (1 - \eta)$$

$$\sum_{n=2}^{\infty} C_{q}(n, m) \begin{bmatrix} 2(1 - \lambda \alpha) ([n + m]_{q} - [1 + m]_{q}) \\ + b[1 + m]_{q}(1 - \alpha) \end{bmatrix} a_{n}$$

$$+ \eta \left[\sum_{n=2}^{\infty} C_{q}(n, m) \begin{bmatrix} 2(1 - \lambda \alpha) ([n + m]_{q} - [1 + m]_{q}) \\ + b[1 + m]_{q}(1 - \alpha) \end{bmatrix} \right] b_{n}$$

$$\leq (1 - \eta) b[1 + m]_{q}(1 - \alpha) + \eta b[1 + m]_{q}(1 - \alpha)$$

$$\leq (1 - \eta)b[1 + m]_q(1 - \alpha) + \eta b[1 + m]_q(1 - \alpha)$$

= b[1 + m]_q(1 - \alpha).
This implies that $h \in T_{\alpha}^{m}(b, \lambda, \alpha)$.

Corollary 2.8. If $f_1(z)$, $f_2(z) \in T_q^m(b, \lambda, \alpha)$ then the function defined by $g(z) = \frac{1}{2}[f_1(z) + f_2(z)] \in T_q^m(b, \lambda, \alpha)$

Theorem 2.9. Let for
$$j = 1, 2, ..., n$$
.
 $f_j(z) = z - \sum_{\substack{n=2 \\ n}}^{\infty} a_{n,j} z^n \in T_q^m(b, \lambda_j, \alpha), 0 < \lambda_j < 1$
such that $\sum_{\substack{j=1 \\ j=1}}^{\infty} \lambda_j = 1$, then the function F(z) is defined by

$$F(z) = \sum_{j=1}^{m} \lambda_j f_j(z) \in T_q^m(b, \lambda, \alpha).$$

Proof: For each $j \in \{1, 2, ..., n\}$ we obtain $\sum_{n=2}^{\infty} C_q(n, m) \begin{bmatrix} 2(1 - \lambda \alpha) ([n + m]_q - [1 + m]_q) \\ +b[1 + m]_q(1 - \alpha) \end{bmatrix} |a_n|$ $< b[1 + m]_q(1 - \alpha)$ $F(z) = \sum_{j=1}^{n} \lambda_j \left[z - \sum_{n=2}^{\infty} a_{n,j} z^n \right]$

$$\begin{split} &= z - \sum_{n=2}^{\infty} \left[\sum_{j=1}^{n} \lambda_j a_{n,j} \right] z^n \\ &\sum_{n=2}^{\infty} C_q(n,m) [2(1-\lambda\alpha) ([n+m]_q - [1+m]_q) \\ &+ b [1+m]_q (1-\alpha)] \left[\sum_{j=1}^{n} \lambda_j a_{n,j} \right] \\ &= \sum_{j=1}^{n} \lambda_j \left[\sum_{n=2}^{\infty} C_q(n,m) \left[2(1-\lambda\alpha) \begin{pmatrix} [n+m]_q \\ -[1+m]_q \end{pmatrix} \right] \\ &+ b [1+m]_q (1-\alpha) \right] a_{n,j} \\ &< b [1+m]_q (1-\alpha) \,. \end{split}$$

Therefore $F(z) \in T_q^m(b, \lambda, \alpha)$.

Definition 1.2. The q-Komoto operator of f is defined by

$$K_{q}(z) = \int_{qE_{q}\left(\frac{-q}{(c+1)(1-q)}\right)}^{q} \frac{(c+1)^{\gamma}}{q^{c+1+\gamma}\Gamma_{q}(Y)} t^{c} \left[Log_{q}\frac{q}{t}\right]^{\gamma-1} \frac{f(tz)}{t} d_{q}t$$

$$c \ge -1, \ \gamma \ge 0$$

Theorem 2.11 . Let $f(z) \in T_q^m(b, \lambda, \alpha)$ then $K_q(z) \in T_q^m(b, \lambda, \alpha).$

Proof : we have

$$\int_{qE_q\left(\frac{-q}{(c+1)(1-q)}\right)}^{q} t^c \left(\log_q \frac{q}{t} \right)^{\gamma-1} d_q t = \frac{q^{c+1+\gamma}}{(c+1)^{\gamma}} \Gamma_q(\gamma)$$

$$\int_{qE_q\left(\frac{-q}{(c+1)(1-q)}\right)}^{q} t^{n+c-1} \left(Log_q \frac{q}{t}\right)^{Y-1} d_q t$$
$$= \frac{q^{c+n+Y}}{(c+n)^Y} \Gamma_q(Y)$$

 $K_q(z)$

$$= \frac{(c+1)^{\gamma}}{q^{c+1+\gamma}\Gamma_{q}(\gamma)} \left[\int_{qE_{q}\left(\frac{-q}{(c+1)(1-q)}\right)}^{q} t^{c} \left(Log_{q}\frac{q}{t}\right)^{\gamma-1} z \, d_{q}t \right]$$
$$- \sum_{n=2}^{\infty} z^{n} \int_{qE_{q}\left(\frac{-q}{(c+1)(1-q)}\right)}^{q} a_{n} t^{n+c-1} \left(Log_{q}\frac{q}{t}\right)^{\gamma-1} d_{q}t \right]$$

$$\begin{split} &= z - \sum_{n=2}^{\infty} q^{n-1} \left(\frac{c+1}{c+n}\right)^{\gamma} a_n z^n \\ &\text{Since } f \in T_q^m(b, \lambda, \alpha) \text{ and } 0 < q < 1, \\ &\left(\frac{c+1}{c+n}\right)^{\gamma} < 1, \text{ we have} \\ &\sum_{n=2}^{\infty} C_q(n, m) \begin{bmatrix} 2(1-\lambda\alpha) \left([n+m]_q - [1+m]_q\right) + \\ & b[1+m]_q(1-\alpha) \end{bmatrix} q^{n-1} \left(\frac{c+1}{c+n}\right)^{\gamma} a_n \\ &< b[1+m]_q(1-\alpha) \end{split}$$

Therefore $K_q(z) \in T_q^m(b, \lambda, \alpha)$.

Theorem 2.12. Let $f \in T_q^m(b, \lambda, \alpha)$ then for every $0 \le \beta < 1$, the function

 \sim

$$\begin{split} H_{\beta}(z) &= (1-\beta)f(z) + \beta \int_{0}^{z} \frac{f(t)}{t} \ d_{q}t \\ \text{then} \quad H_{\beta}(z) \in T_{q}^{m}(b,\lambda,\alpha) \quad . \end{split}$$

Proof : we have

$$\begin{split} H_{\beta}(z) &= z - \sum_{n=2}^{\infty} \left(1 + \frac{\beta}{n} - \beta \right) a_n z^n \\ \text{Since } \left(1 + \frac{\beta}{n} - \beta \right) < 1 \text{, } n \geq 2 \text{, so by Theorem 2.1} \\ \sum_{n=2}^{\infty} \left(1 + \frac{\beta}{n} - \beta \right) C_q(n, m) \left[2(1 - \lambda \alpha) \begin{pmatrix} [n + m]_q \\ -[1 + m]_q \end{pmatrix} \right. \\ &+ b[1 + m]_q(1 - \alpha) \right] a_n \\ &+ b[1 + m]_q(1 - \alpha) \left[2(1 - \lambda \alpha) ([n + m]_q - [1 + m]_q) \right] + b[1 + m]_q(1 - \alpha) \right] a_n \end{split}$$

$$< b[1+m]_q(1-\alpha)$$

Hence
$$H_{\beta}(z) \in T_{q}^{m}(b, \lambda, \alpha)$$

References :

- [1] O.altintas, and S. Owa, "On subclasses of univalent functions with negative coefficients," *pusam Kyongnam Math*, vol. 4, pp. 41-56, 1988.
- [2] Hedi elmonser, Kamel Brahim and Ahmed Fitouhi, "Relationship between characterization of the q-gamma function," *Journal of inequalities and special functions*, vol. 3, No.4, pp. 50-58, 2012.
- [3] A.O. Mostafa, "A study on star like and convex properties for hyper geometric functions," *Journal of inequalities in pure and applied Mathematics*, vol. 10, No.3, pp. 87-88, 2009.
- [4] N.Shilpa and S.Latha , "A note on Ruscheweyh type function," *Rajasthan Acad.Phy.Sci.*, Vol. 10, No.1, pp. 53-62, 2011.
- [5] S.Ruscheweyh, "New Criteria for univalent functions," Proc.Amer. Math.Soc, vol. 49, pp. 109-115, 1975.
- [6] A.Thomas ernst," method for q-calculus," *Journal of non linear Mathematical physics*, vol. 10, No. 4, pp. 487-525, 2003.